

Dekalb County Marshal's Office/FZ55/6

Quote # 008657 Version 1

Quote Prepared for:

DeKalb County Marshal's Office-GA

Kevin Richardson kerichardson@dekalbcountyga.gov

Prepared by:

ProLogic ITS LLC

Products

| Manufacturer Part Number | Description | List Price | Percent Off | Price | Qty | Ext. Price |
|-----------------------------|---|------------|-------------|------------|-----|-------------|
| CF-SVCPSY5 | Panasonic Public Sector Service Package - Extended service agreement - parts and labor - 2 years (4th/5th year) - must be purchased in conjunction with PS bundle base unit | \$645.00 | 20.98% | \$509.67 | 5 | \$2,548.35 |
| CF-VZSU0PW | Panasonic CF-VZSUOPW - Notebook battery - lithium ion - 4200 mAh - for Toughbook 54, 54 Gloved Multi Touch, 54 Lite, 54 Performance, 54 Prime | \$150.00 | 24.81% | \$112.78 | 17 | \$1,917.26 |
| FZ-55J2-01BM | BSKU, WIN11 PRO, INTEL CORE I5-1345U VPRO (UP TO 4.7GHZ), AMT, 14IN GLOVED MULTI TOUCH, 16GB, 512GB SSDWI-FI 6E, BLUETOOTH, 4G EM7511 | \$4,176.40 | 23.26% | \$3,205.05 | 5 | \$16,025.25 |

Subtotal: \$20,490.86



Dekalb County Marshal's Office/FZ55/6

Prepared for:

DeKalb County Marshal's Office-

556 North McDonough Street Decatur, Georgia 30030 Kevin Richardson (404) 371-2199 kerichardson@dekalbcountyga.go

Bill To:

DeKalb County Marshal's Office-GA

Kevin Richardson 556 North McDonough Street Decatur, Georgia 30030

Ship To:

DeKalb County Marshal's Office-GA

Kevin Richardson 556 North McDonough Street Decatur, Georgia 30030

Quote Information:

Quote #: 008657

Version: 1

Delivery Date: 06/24/2024 Expiration Date: 08/30/2024

Quote Summary

| Description | Amount |
|-------------|-------------|
| Products | \$20,490.86 |

Total: \$20,490.86

Contract #: 99999-SPD-SPD0000161-0009

Payment Terms: Net 30 Days. After 30 days, unpaid balances are subject to a 1.5% handling fee per month (18% annual). A PO is required for orders exceeding \$10,000. Warranty covers manufacturer defects only, excluding battery defects, unless explicitly stated herein. Dual-signed Scope of Work will be required prior to placing initial order.

Prices and tax rates are valid in the U.S only and are subject to change. Taxes represented in quotes are estimates and may vary from taxes reflected on invoice (based on physical ship-to address).

Sales/Use tax is a destination charge (i.e., based on physical ship-to address on purchase order). Please indicate your taxability status on your PO. If you aretax exempt, please include proper documentation. If you are not tax exempt, please calculate and include all applicable tax on your PO. Hardware cancelations may be subject to up to a 50% restocking fee.

See Terms and Conditions at www.prologicits.com/terms-conditions/

Quotes are valid for 30 days only and are subject to change without notice due to the imposition of new trade tariffs

DeKalb County Marshal's Office-GA

| Signature: | | |
|------------|--|--|
| Name: | | |
| Title: | | |
| Date: | | |



Dekalb Fire/G2/40

Quote # 008572 Version 1

Quote Prepared for:

Dekalb County Fire Department-GA

Ty Welch twelch@dekalbcountyga.gov

Prepared by:

ProLogic ITS LLC

Products

| Manufacturer Part Number | Description | List Price | Percent Off | Price | Qty | Ext. Price |
|-----------------------------|---|------------|-------------|------------|-----|------------------|
| CF-SVCPSY5 | Panasonic Public Sector Service Package - Extended service agreement - parts and labor - 2 years (4th/5th year) - must be purchased in conjunction with PS bundle base unit | \$645.00 | 20.98% | \$509.67 | 40 | \$20,386.80 |
| FZ-G2EZ- OBAM | BSKU, WIN11 PRO, INTEL CORE I5-1245U VPRO (UP TO 4.4GHZ), AMT, 10.1 WUXGA GLOVED MULTI TOUCH+DIGITIZER, 16GB, INTEL IRIS XE, 512GB OPAL SSD | \$4,432.90 | 33.13% | \$2,964.15 | 40 | \$118,566.0 0 |

Subtotal: \$138,952.80



Dekalb Fire/G2/40

Prepared for:

Dekalb County Fire Department-

1300 Commerce Drive Decatur, Georgia 30030 Ty Welch (404) 824-4886

twelch@dekalbcountyga.gov

Bill To:

Dekalb County Fire Department-

Ty Welch 1300 Commerce Drive Decatur, Georgia 30030 Ship To:

Dekalb County Fire Department-

Ty Welch

1300 Commerce Drive Decatur, Georgia 30030 **Quote Information:**

Quote #: 008572

Version: 1

Delivery Date: 06/24/2024 Expiration Date: 08/30/2024

Quote Summary

| Description | Amount |
|-------------|--------------|
| Products | \$138,952.80 |

Total: \$138,952.80

Payment Terms: Net 30 Days. After 30 days, unpaid balances are subject to a 1.5% handling fee per month (18% annual). A PO is required for orders exceeding \$10,000. Warranty covers manufacturer defects only, excluding battery defects, unless explicitly stated herein. Dual-signed Scope of Work will be required prior to placing initial order.

Prices and tax rates are valid in the U.S only and are subject to change. Taxes represented in quotes are estimates and may vary from taxes reflected on invoice (based on physical ship-to address).

Sales/Use tax is a destination charge (i.e., based on physical ship-to address on purchase order). Please indicate your taxability status on your PO. If you aretax exempt, please include proper documentation. If you are not tax exempt, please calculate and include all applicable tax on your PO. Hardware cancelations may be subject to up to a 50% restocking fee.

See Terms and Conditions at www.prologicits.com/terms-conditions/

Quotes are valid for 30 days only and are subject to change without notice due to the imposition of new trade tariffs

Dekalb County Fire Department-GA



Dekalb County/FZ55/100

Quote # 008203 Version 1

Quote Prepared for:

DeKalb County Government-GA

Tiffeny Bonner tlbonner@dekalbcountyga.gov

Prepared by:

ProLogic ITS LLC

Products

| Manufacturer Part Number | Description | List Price | Percent Off | Price | Qty | Ext. Price |
|-----------------------------|---|------------|-------------|------------|-----|------------------|
| FZ-55FZ- 4VAM | Win11 Pro, Intel Core i5-1145G7 vPro (up to 4.4GHz), AMT, 14.0" FHD 1000 nit Gloved Multi Touch, 16GB, 512GB OPAL SSD, Intel Wi-Fi 6, Bluetooth, 4G LTE Band 14 (EM7511), GPS, Dual Pass (Ch1:GPS/Ch2:WWAN), Infrared Webcam, USB-C, Standard Battery, TPM 2.0, | \$4,169.40 | 31.24% | \$2,866.76 | 100 | \$286,676.0 0 |
| | Emissive Backlit Keyboard, Flat, CF-SVC512SSD3Y - 3 Year No Return of Defective Drive, CF-SVCADDPRM12B - 1 Year Absolute Resilience Panasonic Warranty Bundle SKU Only, CF-SVCLTNF3YR - 3 Year Protection Plus Warranty, CF-SVCPDEP3Y - 3 Year Premier Deployment | | | | | |
| HA- 55LVDLT2L | Havis Lite Vehicle Dock (dual pass) for Panasonic TOUGHBOOK 55 & 54. Includes LIND power supply. USB-A (2), Serial, LAN, Dual RF. | \$1,365.00 | 44.29% | \$760.47 | 100 | \$76,047.00 |

Subtotal: \$362,723.00



Dekalb County/FZ55/100

Prepared for:

DeKalb County Government-GA

1960 West Exchange Place Mailroom- 1st Floor Tucker, Georgia 30084 Tiffeny Bonner 678-406-7815 tlbonner@dekalbcountyga.gov

Bill To:

DeKalb County Government-GA

Tiffeny Bonner 1960 West Exchange Place Mailroom- 1st Floor Tucker, Georgia 30084

Ship To:

DeKalb County Government-GA

Tiffeny Bonner 1960 West Exchange Place Mailroom- 1st Floor Tucker, Georgia 30084

Quote Information:

Quote #: 008203

Version: 1

Delivery Date: 06/24/2024 Expiration Date: 08/30/2024

Quote Summary

| Description | Amount |
|-------------|--------------|
| Products | \$362,723.00 |

Total: \$362,723.00

Payment Terms: Net 30 Days. After 30 days, unpaid balances are subject to a 1.5% handling fee per month (18% annual). A PO is required for orders exceeding \$10,000. Warranty covers manufacturer defects only, excluding battery defects, unless explicitly stated herein. Dual-signed Scope of Work will be required prior to placing initial order.

Prices and tax rates are valid in the U.S only and are subject to change. Taxes represented in quotes are estimates and may vary from taxes reflected on invoice (based on physical ship-to address).

Sales/Use tax is a destination charge (i.e., based on physical ship-to address on purchase order). Please indicate your taxability status on your PO. If you aretax exempt, please include proper documentation. If you are not tax exempt, please calculate and include all applicable tax on your PO. Hardware cancelations may be subject to up to a 50% restocking fee.

See Terms and Conditions at www.prologicits.com/terms-conditions/

Quotes are valid for 30 days only and are subject to change without notice due to the imposition of new trade tariffs

DeKalb County Government-GA

| Signature: | |
|------------|--|
| Name: | |
| Title: | |
| Date: | |



Dekalb County Marshal's Office/FZ55

Quote # 003688 Version 1

Quote Prepared for:

DeKalb County Marshal's Office

Kevin Richardson kerichardson@dekalbcountyga.gov

Prepared by:

ProLogic ITS LLC

Products

| Manufacturer Part Number | Description | List Price | Percent Off | Price | Qty | Ext. Price |
|-----------------------------|---|------------|-------------|------------|-----|-------------|
| CF-SVCPSY5 | 4TH AND 5TH YEARS PUBLIC SAFETYSVCS SERVICE BNDL ADD ON | \$645.00 | 17.05% | \$535.02 | 9 | \$4,815.18 |
| CF-VZSU0PW | BATTERY PACK FOR CF-54 BATT | \$150.00 | 24.81% | \$112.78 | 3 | \$338.34 |
| FZ-55J2-01BM | I5-1345U VPRO UP TO 4.7GHZ 14.0SYST 16GB 512GB OPAL SSD W11P | \$4,176.40 | 23.26% | \$3,205.05 | 9 | \$28,845.45 |

Subtotal: \$33,998.97



Dekalb County Marshal's Office/FZ55

Prepared for:

DeKalb County Marshal's Office

556 North McDonough Street
Decatur, GA 30030
Kevin Richardson
(404) 371-2199
kerichardson@dekalbcountyga.go

Bill To:

DeKalb County Marshal's Office

Kevin Richardson 556 North McDonough Street Decatur, GA 30030

Ship To:

DeKalb County Marshal's Office

Kevin Richardson 556 North McDonough Street Decatur, GA 30030

Quote Information:

Quote #: 003688

Version: 1

Delivery Date: 06/24/2024 Expiration Date: 07/24/2024

Quote Summary

| Description | Amount |
|-------------|-------------|
| Products | \$33,998.97 |

Total: \$33,998.97

State of GA: End User Computing - Contract Number: 99999-SPD-SPD0000161-0009

This quote will require a PO to move forward with purchasing

Payment Terms: Net 30 Days. After 30 days, unpaid balances are subject to a 1.5% handling fee per month (18% annual). Warranty covers manufacturer defects only, excluding battery defects, unless explicitly stated herein. Dual-signed Scope of Work will be required prior to placing initial order.

Prices and tax rates are valid in the U.S only and are subject to change. Taxes represented in quotes are estimates and may vary from taxes reflected on invoice (based on physical ship-to address).

Sales/Use tax is a destination charge (i.e., based on physical ship-to address on purchase order). Please indicate your taxability status on your PO. If you aretax exempt, please include proper documentation. If you are not tax exempt, please calculate and include all applicable tax on your PO. Hardware cancelations may be subject to up to a 50% restocking fee.

See Terms and Conditions at www.prologicits.com/terms-conditions/

Quotes are valid for 30 days only and are subject to change without notice due to the imposition of new trade tariffs



DeKalb County Marshal's Office

| Signature: | |
|------------|--|
| Name: | |
| Title: | |
| Date: | |